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APPENDIX

Calculation of GMT (G tric Mean Titre)

GMT = anti log,, X log,, xi
—_—

Y log, xi = Summation of log,, x 1 +10g;, X 2 + ......... + log,, x n.

Z-test

Group 1:  n, - number of subjects in group 1
X, - geometric mean titre of group 1
SD, - standard deviation of group 1

Group2: n, - number of subjects in group 1
X, - geometric mean titre of group 1
SD, - standard deviation of group 1

Zvalue = X, - X,
SE (x, - X, )"

SE(q-%) = V[ sD,? + sD,? ]
o m

SE (x, - X, )" - standard error of the difference between the means
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o> Test

y*value = £ (0-E)/E
O - observed frequency
E - expected frequency

E is calculated by the formula :

E = Rowtotal x column total
Number of total samples

Note : These formulae are refered from Michael & David (1993).
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